@D2

5
>
S
3

|:|_L 1




134



PAE Single Stage Dimensions PAEEERINERTE

c9
%) oC7
) @D2 of L11  C6
i - 3 — ]
] - =
" . O &9
Pk LEIEE
a o - = =1 |
8 s | [— L4
]
= !
L4 - =
L3l | |7 c4
L2 L8 c8
B L6 L5
i o | |
o o/

]

L9
10
Specifications #1& Unit:mm
= Dimensions PAE42 PAEGOD PAES0D PAE115
D1 50 70 100 -
D2 34 5.5 6.5 =
D3he 13 16 22 E
D4 g6 35 50 80 <
D5 15 20 35 -
D6 M4x0.7P M5x0.8P M8x1.25P 5
D7 56 80 118 -
L1 426 60 90 =
L2 26 37 48 -
L3 5.5 7 10 -
L4 15 1.5 15 -
L5 15 25 32 =
L6 2 2 3 -
L7 5 10 12 =
L8 25.2 36.3 41.8 -
L9 4 4 45 =
L10 14 16.5 205 -
L11 26.9 343 415 =
€1 46 70 90 -
o M4x0.7P M5x0.8P M6x1.0P .
c3? <8/<11 <14/<19 <19/<24/<28 .
c4? 265 33.5 41 :
C5%s 30 50 70 =
c6? 4 4 6 =
c7? 426 60 92 2
c8? 364 448 55,8 s
c9? 876 1181 1456 -
B 5 5 6 -
H 15 18 245 -
* Cl~-CORAMMERBEERL T BIEMERMRERHKE. % C1~C9 are motor specific dimensions(metric std shown },
Size may vary according to motor flange.
* BATERHEL RS ETRISERLTEA. * Specification subject to change without notice.
7> SESAME

'135_‘ CEm . .
: www.sesamemotor.com



SERVO MOTOR GEARHEADS

PAE Double Stage Dimensions PAEZEZSNEIR~T[E

. c9
3
= i
B Fa—1 w0
8 | f—
L4 —
L3 | | L7
=2 L8
8
S ——
B L6 L5
I—I 8 K o om— = § 'f‘u‘ wn
p=t alo
= L10 —
Specifications #31§ Unitmm
Rt Dimensions PAE42 PAE6O/PAEGOT PAE90/PAE 90T PAE115T
D1 50 70 100 -
D2 34 55 6.5 -
D3 hs 13 16 22 E
D4 g6 35 50 80 &
D5 15 20 35 =
D6 M4x0.7P M5x0.8P M8x1.25P -
D7 56 80 118 8
L1 426 60 90 5
L2 26 37 48 -
L3 55 7 10 B
L4 15 15 15 5
L5 15 25 32 :
L6 2 2 3 -
L7 75 10 12 =
L8 50.1 67 | 62.6 82.8 | 794 -
L9 4 4 45 .
L10 14 16.5 20.5 #
L11 26.9 343 26.9 415 343 -
CL" 46 70 46 90 70 .
it M4x0.7P M5x0.8P M4x0.7P M6x1.0P M5x0.8P s
c3? <8/<11 <14/<19 <8/<11 <19/<24/<28 <14/<19 5
ca? 265 335 265 a1 335 :
C5 %6 30 50 30 70 50 E
c6? 4 4 4 6 4 2
c7? 426 60 426 92 60 -
cs? 364 448 36.4 55.8 44.8 :
c9? 1125 1488 136 186.6 1722 5
B 5 5 6 -
H 15 | 18 245 -

* Cl-CORARTEMBBHER T REMBANKERE.  * C1-C9 are motor specific dimensions{metric std shown },
Size may vary according to motor flange.
* FATEHEHEN FHBERETRITBRERRTEN. * Specification subject to change without notice.

27 SESAME

www.sesamemofor.com



137 ‘

PAE Specifications Table PAEtRERBHE

#1# Specifications e S PAE-42 PAE-60 PAE-90 PAE-115
3 9 28 85 250
4 10 32 80 240
5 11 35 95 270
X 7 10 28 85 220
9 8 23 75 210
10 8 21 65 190
sg{fiﬁe e PAE-42 PAE-60(T) PAE-90(T) PAE-115T
ERLTIE Ton -
Nominal Output Torque 15 11 34 90 250
20 10 32 80 240
25 11 35 95 270
35 11 35 95 270
2 45 11 35 95 270
49 10 28 85 220
63 10 28 85 220
81 8 23 75 210
100 8 21 65 190
= fF 14 Tanot Nem 3.0 HERET L N ( 3.0 times of Nominal Output Torque)
Emergency Stop Torque (* F AL N EE Max. Output Torque T2B =60% of Emergency Stop Torque)
Nfﬁ?}ﬁﬁf Sr:::ed rpm 12 3-100 4000 4000 3000 2500
%’:f&:ﬁ;‘;:d“ rpn 12 3-100 8000 6000 6000 5000
ERER _ 1 3-10 <9 <8 <7 <6
Standard Backlash P2 T 2 12-100 <12 <10 <9 <g
T8 Torsional Rigidity /il::;r:i]n 12 3-100 15 4 8.5 17
Pl 'E‘;; N 12 3-100 760 1250 2030 4200
gl fj:; N i 3-100 410 700 1200 2600
EFRE Operating Temp. {4 3-100 -10°C ~+90°C
{EF®RService Life hr 3-100 20,000 (10,000/ £ E#8 Continuous operation)
R - 1 3-10 295%
Efficiency 2 12-100 Z90%
T ) 1 3-10 0.6 13 32 75
Weight 9 2 12-100 0.8 1.8/16 48/37 9.2
2427518 Mounting Position - T2 3-100 FEEFEANy direction
&4 Noise Level * dBA/1m 1,2 3-100 61 63 66 67
B Z 4R Protection Class - 12 3-100 P65
=72 Lubrication - 12 3-100 =5 EERHE Synthetic Lubricant
SR ENE E Inertia(J1)
#¥Stage FiRthRatio FAIunit PAE-42 PAE-60 PAE-90 PAE-115
3 0.04 0,23 077 230
4 003 021 0,67 192
1 5 003 021 061 171
7 003 021 0,60 165
9 Kg - cm? 0.03 021 0.60 163
10 0.03 0.21 0.60 161
##Stage MEHRatio PAE-42 PAE-60(T) PAE-90(T) PAE-115T
15/20/25 003 021(0.03) 061(0.21) 061
2 35/49 0.03 0.21(0.03) 0.60(0.21) 0.60
45/63/81/100 003 021(0.03) 0.60(0.21) 060

* 1. B #E 100rpm B, fF AR # L8 0T F Applied to the output shaft center @100rpm.
* 2. 3000rpm 2=l &l Measured at 3000rpm with no load
MALTEHEL FRIERBETRIABELRLTEH - The above figures/specifications are subject to change without prior notice.

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.
EREARRERANEGERERTRDAR FEFREREA -

..‘J
&

SESAME

www.sesamemotor.com




SERVO MOTOR GEARHEADS

<
= SESAME ‘ 138
www.sesamemofor.com



